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Micro Economics
Full Marks : 60 : Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group-A
1. Answer agny fen questions : 2x10=20
(a) Define marginal utility of a good.
(b) What is consumer"s surplus 7
(c) What is the shape of demand curve for an

inferior good ?
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If average productivity of a factor is maximum
then what will be the relation between average
productivity and marginal productivity of that
factor.

If two goods are perfectly substitutes then draw
the shape of the indifference curve in a two good

panel.
Define equi-marginal utility.
What is Engel curve ?

Define own price elasticity of demand for a
good.

Draw the shape of Average Fixed Cost (AFC)
curve.

What 1s shut down point ?
What is duopoly ?

What is price discrimination ?

(m) Write the characteristics of monopolistic

competition market.

(n) What do you mean by value of marginal product?



(0)

(3)

What is quasi-rent 7

Group-B

2. Answer any four questions : 5x4=20

(a)

(b)

(©

(d)
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Draw and explain the nature of demand curve
for a good under Cardinal Utility Approach.

State and prove the necessary properties of an
indifferences curve.

Explain how does a consumer reach equilibrium
in a two good framework to maximise his utility
subject to the budget.

In a short run production system derive the
relations among TP, AP and MP of a variable

factor.
Write the features of perfectly competitive market.

Explain the marginal productivity theory of
distribution of a factor.

Write in brief about the liquidity preference

theory of interest.
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Group-C

3. Answer agny fwo questions : 10%2=20

(a)

(b)

(©)

(d)

Prove that total price effect is the summation of
substitution effect and income effect for the

good of any nature.

Discuss how a monopolist attains equilibrium to

determine price and quantity of its product under -

different profit and loss conditions.

What is Pareto Optimality ? Discuss how Pareto
Optimality is attained in the consumption of two
goods by two individuals.

Explain Recardian Theory of Rent using
diagrams.
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